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QUESTION 1

What is the result of voiding a payment? 

A. The payment is reconciled to the bank statement. 

B. The payment is no longer valid for payment. 

C. A stop payment request has been initiated to thebank. 

D. A bills payable payment was created but is not yet matured. 

Correct Answer: B 

 

QUESTION 2

You need to submit a 1099 report; your State format has changed slightly since last year. How should you submit your
1099s for the State in the current year? 

A. Run and submit your 1099s because it will automatically reflect any changes. 

B. Edit the 1099 template to reflect the changes, and then run and submit the 1099 report. 

C. Generate a 1096 form and submit it instead. 

D. Manually enter the 1099s forthe State and submit. 

Correct Answer: B 

 

QUESTION 3

In what order should the import process be run when importing suppliers? 

A. any order 

B. Supplier,Supplier Site, Supplier Site Contacts, Supplier Site Assignments 

C. Supplier, Supplier Site Contacts, Supplier Site, Supplier Site Assignment 

D. Supplier, Supplier Site Assignment, Supplier Site, Supplier Contacts 

Correct Answer: B 

 

QUESTION 4

An invoice for $200 USD and a credit memo for $225 USD are due for payment and the "Apply credits up 

to zero amount" option is enabled for the payment process request. 
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Which statement is correct? 

A. The payment process request applies $200 USD of the credit memo to the invoice, leaving a remaining credit of $25
USD, and creates apayment for $0 USD. 

B. The payment process request doesn\\'t select the invoice or credit memo for payment because the credit reduces the
payment to - $25 USD, which is below zero. 

C. The payment process request creates a refund for $225 USD and leaves the invoice unpaid. 

D. The payment process request pays only $200 USD alone. 

Correct Answer: D 

 

QUESTION 5

When creating a check payment, from where is the payment document defaulted? 

A. Legal Entity 

B. Back Account 

C. Bank 

D. Business Unit 

E. Supplier 

Correct Answer: C 

1Z0-961 VCE Dumps 1Z0-961 Practice Test 1Z0-961 Braindumps

Powered by TCPDF (www.tcpdf.org)

1Z0-961 VCE Dumps | 1Z0-961 Practice Test | 1Z0-961 Braindumps                                3 / 3

https://www.geekcert.com/1z0-961.html
https://www.geekcert.com/1z0-961.html
https://www.geekcert.com/1z0-961.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-961.html
https://www.geekcert.com/1z0-961.html
https://www.geekcert.com/1z0-961.html

